acute angle

5+ 3 +2=10

addend 2/

addends



additive

comparison

algorithm

ve A
v Ay

ve A

How many more hearts than stars are there?

32-#30+21
+ 41 w40 + 1
73?70+3




arca

model

2 x 5=10 square units

20

9 9x20=180

9 x 28 = (9 x 20) + (9 x 8) = 252




array

Associative G+7)+3=5+(7+3)
Property of 12+3=5+10
Addition 15=15



Associative 5x7)x3=5x(7x3)
Property of 35x3=5+21
Multiplication 105 = 105

attribute large

triangle

pink




AXIS

base of an
exponent




base of a
solid figure

benchmark
fractions




; <~ O\
braces ‘ {0,1,2,3,4,5)

brackets [(2 x 20) + 6]



centimeter

(cm)

Commutative
Property of
Addition ,

2

HHHIII|IHHIH!|HIHIlHIHHIHlIlIIlIIH

2cm 3cm

'
5¢

— H | .

Clmm utative Pro gerty




Commutative
Property of
Multiplication

compose

2 triangles can form a rectangle




coordinate

plane

coordinates 5.2




corresponding

terms

cubic unit

2" Term | 3% Term | 4™ Term
aws| 3 | ¢ [o\ 12
Ads| 6 | 12 w 24




customary
system

data

Number of School Carnival “g ' 5

Tickets Sold
Kindergarten 22
1" Grade 15
2™ Grade 34
3* Grade 9
4" Grade 16
5™ Grade 29
6" Grade 11




decimal $1.55 3.2
pOint dlcimal poiJ’r



decompose £

SRR

{3x100)+ {4 x10)+{2x 1)

Set
s Total

denominator

’h Parts 1n all
o Whole
O @
2 3



difference 49.75-13.9=}5’.85

difference

Distributive

.o, A e, :K.. [
B
b
B o

6X14= 4) "Break up the
expbed
l O el | CExeExy
SEEL RN R .



dividend 7

divisor




equation T/ "

These expressions balance the
scale because they are equal.

equivalent

Qo [ &N N [—

fractions




estimate

evaluate

How many jellybeans

are in the jar?

42 - 13 =n



expanded
form

exponent

8120

8000 + 100 + 20

(8 x 1000) + (1 x 100) + (2 x 10)
(8x10%)+(1 x10%)+ (2 x10?)

Exponent

e
104
base/



expression  x+3

factor 2x6=12
)

factors



finite , 3 am

4.
SR Y:
10
. 2125
4

decimal -

To find the area of any
rectangle, multiply its length
by its width.

This rule can be written as an

equation, A — l Xw

formula




G ” gt ,'"'f‘ i’} _:f"'} g‘."z \\‘

Y 7 @1 b A \
. " X ’r‘ ] L- : ¢ ‘/ ' S,
| A ! t .‘ |
i | | |
ki b /. . :

; 4 r ':

1 i 3 ‘\\ )

» L \ fi? \‘”\ ,»-/
T .

than

hundredth —




hundredths 4.38

improper 15 .
:

6 £

fraction 3



mequality

intersecting

lines




less than

like

denominators

3
8

0 | U

oo |



line plot

long

division

-

X X X X

332 R0
2357636
269

73
-69

46

___42

0




lowest

terms

meter

A baseball bat is about 1 meter long.



— 1 litre

1||||||11|||||11|||||||}
SR sy B o P g Qe 1O il 12 43 - 14 ety
s e e S ALy o

Mllllmeters

® o /(‘ | '
millimeter  —
i 2 3 4
Centlmeters

(mm)



minuend

mixed

number

43.2 -27.9=15.3



numerator

Order of F;EMTDA§

Multiplication
Division Addition

Op e r atio n S Subtraction



ordered

pair oy

origin




parentheses  (+3)x4

() 5 x 4=20

perpendicular

lines




place value

plane

HMILLIONS THOUSANDS ONES
mlt;:ns milllons thousands hundmds tons ones
4 5 9 2 8 1




powers of

ten

product




proper
fraction

quadrants




quotient

remainder




right

triangle

rounding 45357 >45.4



scaling

sequence 2,58, 11, 14..



simplest

form

solid figure




standard

form

subtrahend

Minue

354 973

B

F——\
Differ

Q. )

8-3:
- subtraner

Subt



453 + 929 = 1,382

SUI
/r

sum

tenth




_
,

K-

=
v =
i <
E -
= E
~



thousandths  0.276




it cube

uill

fraction

1

2

fraction with 1 as a numerator



unlike 111

denominators 345

volume



whole

numbers

X-aXIS




x-coordinate (7, 2)

y-axis = =




y-coordinate (7, 2)



